TWRT "7 'O 2,70 M2 702

The woman. If there are — 912 211972 NRYOW 297 2° AR JTNT
witnesses that she left her father’s house with a lxm:*n, etc.

OVERVIEW

The m1wn states the case of a woman who is widowed or divorced and there
is a dispute whether she was a 72102 when she originally married. If there are
witnesses that she was Xm11°72 x¥° at the wedding, it is proof that she was a
79102 and receives a 72105 payment of 0*nX». Our NMoOIN will be discussing
some details in this case.

There are places where the 712103 was written and used as a note to collect
payment; however there are places where there was no written 721n3.> The
woman collected her 772102 based on a 77 n°2 nwyna. It is an enactment of 7"°2
that a woman collects a 772102 (etc.), if she is widowed or divorced.
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The 71wy is discussing a case where the woman is not holding a ;121n3;> the
widow or the divorcee has no 72113 in her possession for if there is a 573103,
why should there be an issue let us see what is written in her 772105 whether
she was a ;72 when she married, and her 7205 is 0»nX»; or if she was a
widow (or a divorcee) when she married and her 72103 is only a .

mooIn anticipates a difficulty if we assume that there is no 72102 VW being presented
here for collection; and rejects it:
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And even according to the one who maintains, that one who argues with
an enactment of 7''s2 and he says I paid the debt that 7"°2 placed upon me
he is believed and does not have to pay, nevertheless there is no difficulty. Seemingly

according to this 7" there is a difficulty. In our case since the ex-wife is not presenting a
7202, the husband (or the 2°mn°) has the option of claiming that the 72105 was already

" The X7»3 (on 2, 77) cites two opinions whether a X171 is a wreath of myrtles or a type of veil.

2 See the X3 later on a,70.

31t is either a 720> 1°2N10 PPRW 0P or she lost her 712102.

* The term ‘even’ is to be understood that ‘even according to this 7'»’ there is (ultimately) no difficulty, as
m»ooIN continues to expound on the proposed question and subsequent answer.

3 There are those who maintain (117 ') that one cannot claim *ny7d on a debt that 7" imposes on him
(like supporting one’s wife and daughters) for it is like a Jvw2 M1 where >nyI2 is not believed See X, n"2.
However there are others who maintain that *n¥19 is juX1 against a 7"°2 qwyn; see the marginal note.
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paid in full.

moon will first clarify the difficulty, and then answer it:
= NP MNP INT NN TEANRYI NINDN IND 91990 19N PR DIPN Yo

Nonetheless, even though that this option of *ny75 exists, the husband is
not believed in this case to claim, that I married you as a widow, since he

has a 1% that he could have claimed I paid the 721n>. If he would have claimed
ny10 he would be Mwd from paying anything. Now that he is claiming °nXw1 7n2K% and
is willing to pay a 1, he should be believed.® The question is why the woman receives
the entire 721n2; there is a W of *ny79, which should support the claim of TnRW1 739K,

mooIn responds:
NI OYTY 0PN NNT

For this is a 1% which contradicts 2°7¥. A o7y o1pn2 131 refers to case where
the claim (not the 1°») contradicts the 0°7¥. In our case the claim is that she was a widow
at the time of marriage. The 0>7v claim that Xm2°72 7X¥°; that she was a 7232, A Wn
cannot justify a claim which contradicts o>7v.

SUMMARY

If there are 07y that Xm11°72 AXY°, then even though the woman does not
possess a 1213, he is not believed to claim TnRW1 7K, with a Wn of
7°ny75. This is considered a 27y Qpna .

THINKING IT OVER
The ruling that 1% X7 0°7v 03pna wn is well established. What was no01n
question initially?

® This seems to be even stronger than a regular . If he would have used the 13 claim he would have been
entirely 71vd; certainly he should be believed with his actual claim where he is admitting to owing a 7.
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